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(- ) I PR B (Proxy Server) o (2 4)
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o~ R LT ORER AR B3 OSIT R R 3’1— H##-3] (Open System
Interconnection Model) #7 e d® i1k B 22 6 5 o (F JE 2 4 > & 10 &)
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(Z) i >y i B (Network Address Translation, NAT) - (2 4)
(2 ) it f%47 5 T_ (Address Resolution Protocol, ARP) - (2 4%)
() B d F3: 2 (Routing Information Protocol, RIP) » (2 4)

(- ) R i B(Gateway) ° (2 #°)

(=) #i#: F(Bridge) - (2 »)

(Z) =% 8 & B (Switching Hub) » (2 &)
(z) &R EB(Hub) 2 »)

(1) 7 PR E(Web Server) o (2 4)

» 12T Python #2.5% » (% 10 &)

01 | def get value(A, B, n, row, column, value):

02 for k in range(n):

03 value += A[row][k] * B[k][column]

04 return value

05

06 |deffl(A, B, C, n):

07 for row in range(n):

08 for column in range(n):

09 C[row][column] = get value(A, B, n, row, column, 0)
10

11 | def £2(D, n):

12 m=n>>4

13 m=m<<4

14 for 1 in range(7, 3, -1): # From 7 to 4 inclusive
15 Dli]=11i1f(m & (1 <<1))else 0

16

17 | A=][1, 2],[3, 4]]
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18 | B=[[5, 6],[7, 8]]
19 | C=[[0, 0],[0, 0]
20 | D=[0]*8
21 | flI(A, B, C,2)
22 | print(C[0]) /(@
23 | print(C[1]) /- _(ID)
24 | f2(D, 123)
25 | print(D[2:5]) /- _(1II)
26 | print(D[5:]) /I _(IV)

ANEBRETE PRIV ASERFTHEE T 2 5 (Product) | T A
el & f % (Supplier) ;74 2 - & “ - FERFTREIAAS
~—HAREEnd - RERFHRE A S Product) TR £ » A4
PID: Biée § PID (2 &%%%) P NAME (& & & #) -

P_PRICE (i& j' & i )~P_NUM (it § %<& )"DATE & § B #)~
S_ID (% § 7 %%.) o % § % (Supplier) ; F#HL 4 > 3 4@{5 ID >
Bié § SID (R F %%) SNAME (2} 7 &4)
S_ADDRESS (#f ## #)~S_TEL (% 5 ¥ T 32) - ( 10 &)

(—) BN

& (Product) F 4 & » A73# - &£ F# : {10112, Drone,
3000, 500, 2024/06/30, A25535} (3 A)

) & A &(Product) Tk & L AT B SEL A10012 &0
=2 gkgm % 0800010101 = (3 A')
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SR APIMA ) TARRRK LS TP k24381016
F R g (netmask) 255.255.255.248 (£ 10 &)
(=) F#HP e T+ EEdnetwork ID » (3 #)
(=) F#P ) e T e+ g o broadcast address = (3 47)
(Z) 338 0o ToF R v P FER -2 4)
(2) F3P T raseis mn 5 243810124 £.F &) d F 55k -
B+ Jept o (2 4)

ANTFTREFIEATARLHFAEIFER  NTAPMNTRX 2ME
i (% 10 &)

(- ) F# A CVE(Common Vulnerability and Exposures) i H 44 -
G ~)

(=) 77+ CVE g HaR® 254 - (3 4)

(Z) FFiP R 2 RBEHFENRHBALILLE -2 4)

() M 2B RAG TR b § 9 2% 2 8 R (2 A)

1 FRP T RREEESH N o (FH2L 0 X 104)
(- ) Bd E(router) - (2 &)
(= ) VPN PR % (Virtual Private Network Server) ¢ (2 4)
(=) # % % 5@ JR % (Domain Name System Server) o (2 4°)
(z ) SSL B #IRTS = (2 4)
(Z )DHCP #IRE o (2 4)
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L ~ 12T Python 423% o (& 10 &)

01 | def Fl(n):
02 return [1 for 1 in range(1, n) if 1 % 3 == 0]
03
04 | def F2(S):
05 data = {}
06 for s in S:
07 if s in data:
08 data[s] +=1
09 else:
10 data[s] =1
11 return data
12
13 | def F3(sl, s2, m, n):
14 return s1[m:n] + s2[m:n]
15
16 | def main():
17 print(F1(7)[1]) # ()
18 print(F1(10)[2]) # (1)
19 print(F2("Metro Taipei")['e']) # (110)
20 print(F3("Metro", "Taipet", 2, 4)) # (1V)
21
22 |if _name ==" main_ "
23 main()
(=) BH_@) # QL)
(2) B4 AN #HQ A -
(2) B &_(ID) $:1(34)
() B H_(AV) 5 HG3 2) -
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